JAS W

811D

A
A
oo
D

P B B P B B B B B B B P B B B B B B B B EA A B

AL P ’ . .34 g & a! [SUSPRRRIW t}Lo' ol She

\WRYNY/Y V (0,) (e plal
AY d

(V) o lods an 280

ahal ! g s
Skl g Sladsd p e D5

2358 el e Bljl

[ V79A Sl (55 miotn) 5553 039 59333 09857 |

[ ol pole riela;T 09, iloial slhdiy alS ]

R — Pl olas |

V1w 0ylas g Slaai o ilowial Slye lgis

e b [ ol 3t | g Stas el olge 3,
Y. Yo heans slaazal [ )
\#e LA & SO9eE = ol 515 | ¥

ROV PSRN O I PR 813 i 0 yai ype il ol

| At by Oy e g okl b g iyt s lefler ! e b B g ks o) i gl gl 15T 31 o [y S S ) 0 g Ve L

A R S S SRR RARTRA 1r AN R R R S R S R 88




! O,a}‘ Al BT (P JpA> pis 4”'-.‘1 .Ja_a J’AJ. Ql’_)-ﬂ.l » Las! 3 olasie TS pas .“.ol; u'—l.b,h []

) PHISIRCK S-SR WS JP) UV £ S lbgls o ylad b il !

@ Jg! e

:du' 3

P 5w Fely 9 ity Chow 1) e 51 S 5h ol sl im0 yebdy (e 99 (i o 5
39 9 9 iy 0355 bl b zlidil (e 1 (lgi o0 ail & azgi b wul ol (T pj 0 a5,
A e dalizwly



ONOROLORORO

Silee Pz 0 b 6N A AL
) & i ool (gl &5 Cal Ly 19 50 aalg>
o) e AU1S o jelulie g suiiSeol )l
S Jlaw pi 1) olej oo e ki
Wy g 1) elly Sl glaz )b
) e 2l il (09 e O)g0,8
g Cnl aales axd pais (K> 4l
R0 Ggliie axd W g i gla

’Ow

w glagsn U ol Sl (Saazy o
Dy gb Sy s T3l 40 s

392 ;50 A jl LMl 08 SO Ll
S5l o sl sl )0
8 ) Gl e W95 gy WSl AlgS
Olal de>9 lp guplen 5,5 ol |,
392 53 gye > 0wl (o
mlejl by e VMl b e
Selosl B ule;T £oi opl & . ivel Cawday
Sly o O)gon 4T d9d o0 4AT (pad
plwil 4 )i OO Syl b g swps LS
w2 Sy odliiuld 00 ulojl i pS 0
Pl opilly 5393 i ol Cone
@l olay N0 b lejl ol cdls
&y a8 gl ki 0 )5 Lo O el @l Cao
Wl (92 e 4B Ll lpe (LIl
Ofes ol Ll o alfuis slagke
&l g Laplansl ) 5 LIS 38 vl
patcie Lol iy (o @l o] pagde § @os
& G gl LS wlus glalis
L il e g 0, Gl sy )0 (e
I Gilee gyl d929 &5 Cand sl )l
S (g T e

.Q,ﬁmmq

()

(Y0)

@)

(0d)

F-)

(#8)

pas ) a3 9395 (o) )0 43 K P semdi
| laielils al il g Jaud 0,90 ol
€Oy b e gblic aki sl Ll
03,5l 095 Canww @ 1) Gladelils 4>
)9 Ed)lee ST L pler Syl gep Canl
) il g cudlai i g 09,5 7 ke
SRy aao) 33 e b9l 05 0 Jed
S0 8 Ll oy @B8lge e pU g (eeilyS
2B Bl Je3 1y g9 4 (Sl )90
Sl ogiilsS 152! odalie Wyel i
sdaliv (! kil gl o0i 132! (! Sl Juii
Ol 5 slwl bo Gl 53 (SIS Wil 0
el ojlil 4 ilike cbasus Lo
Slp 0yl oegiiles Olyd (pl gly 990
Sl 90 oy 3 9590 £ b AT (P58 1 Lo
o bl A1 Wilgi g 1) 053 9 Zge (e
e Wy Jlisl Al 90 i owyp
Ty S L dg wnle 00 SO L Hlis e
Syse 1y Suwd Lalild Ky a5 olSn
ol 99 0 SES e o )8 sualiv
30 Gaaeild plply 09l 0 dbw! e
9 Mg T L st ol Qe S
P lees pled R0 Gl o garalils
Olyee sl pl bolply 08 b
B agi il ook bz s>
e a0l L alas glalis o,k
Thaw sy oadlio Lol e e
9 Sl Cawpd @l ol 10,10 pailys
Al Dgliie g Ree A W Jes
&l9)0 puid plwl 1) Joe o] ST b
sl il o SIS g 035 laa 1) Llis
i e plail |y Jas T 51 o oS g0
slddl I S a5 e il o Gl ol
Sl Jas o oolidad G (Sas
! gl I (oK1 45 e plail 1y (5,15

S

©®)

(\d)

(v+)

(Ysy)

(Yd)



OROROLORORO

&') u‘};b j‘ c".\ﬂ)aq a',i‘“o ‘) 0),0 p'JS —-\'\"

3,5 bl Oyl @ i &

g ofan Sl K3 US Jar pm gy ()
A pate plea ) S it

A gn e (5,%08 S 4y 335 9 51 (Y

Al g 28 S Ol Wl doe sl (7

T B I O 108

Ay 2590 plAS e @ Az L

alfais sla e ki w aal)y Hladelils

oS (o0 oy |

T oS s e e o @l ()
._‘lo‘ C._{LTJ

Sy 5 ) el (¥

ail sl il (F

aos W2, (F

W9y G Axio &

\o¥

9 o3 Bl 4SS 090 plas ) SISTLL Gk )4

¢! Q),‘

E,‘Q&a'a)s ‘6‘:“5'! Ai.._w‘(\
a0 L Ayl 0,3 (0 (¥
#3SS (i p ennis 0925 (T
Toe &bosbp 5 (F

3P Y OBILFLL A G ydd D590 plas )oY

S 55 6 Sl By gl S O
J..Suot)ha ') il odu.‘ \
30 St ety ) ) IS

3,90 (5,95 o.L.'.LSC.?‘)L; § s g-’l*‘(‘.
Al aikmgt Uy VSl i

29 oJ..Bc}.la‘ &85 5l Aol eti A3 L (f
o) 381y Syl g s LS SIS



ONOROLORORO

Sy Sl o WSy gl ol e
A ol (29500 W Jeyye5) ST b wad
o ol Lol Gl sud @l il
P (AL Slualic a5 ol ggyls

el A e B I e
Lzl gy oilejl 50 emwlell,
3 b Gulejl Gl)liluny (5 g Lige
ROU PRV JORTIPRIEICIP N

o) dduned (sl 1) Lo bagylo (pl iy po
Ll 51 eoliwl L Lol cudls g o5
et Iy G 1y Gom Wy e e
R 89y e glagls I Soe
) ge il gy piuilSe I padie
s mMTOR b & slus) @35 Jor'sis
oy e pU @ lagy g9y 2 ormellls
ag;y ol yedds igy 90 ol NN cwl Hlig 50
SROALS S (w it (gl (LS
45 Gl Jghno (2819, Miduad gy Wy,
Gl 3o A5l L s he wg) aw
daayg) (ol 4en &5 )2 ol W e Job
2198 Slgo D929 pus b 92y AR g9
2l G imte ok ad) slp p3¥
&5 S oley &5 Cawl ol ity (Y] aijls
By baab (sl axdls Jreody dad
odle g9 pus b 939 (35 e )0 &5
Fladad o Cawd Wyls Al slas
ojlrl il ogzee p¥ (plAE g
AR 20 y95 e () & |y Jread g

Gl ple pwlidican
a3l S 59y p B el &5 Jb> 0

dw ool a8lgy Lol wiled ¥ 35w WU W9,

A“'

9y O Axdo &

()

(¥d)

(d8)

(F+)

Ol | (Fude ol 5 (35 Sgama )2
a5 Sl 58k oLl o sl le faas o
) wae b ale ader axd alla o
a5 glojyy 31y Jos il U Al g0 ASge
y 3l o)yl WS e b3 (el YU
Fae Gy Sl &F Cuul yg w0
303,5 y |y (Fobow a0 9 (5 5fley o
b oS WS (5 1) Jobw adyi Jos
ol 25 G 0 (pepatn o)
Wyy 9 03 laal 1) (2138 Slge Sgues
wlyd e 9 WS oS 1) o
893 O il (g &5 wile 0
009 yge ey plamas &Sl L
bl 3, 3929 $JB (9,5 dgame @)
b @lhe ) ool ppaille dwye Hliay
SEE g9y ¢ 9 Sl G o sl 3 Sdeas
ol @ s gulpl ) byludl jer Wiy o0
e ds ) 89y GR b plaieddls 3 o
29 AR 0 18 iy 3590 1) S )
e gl sly el L gly S
Iy Lagyls ol 31 o3 3 AU ol pSone i
Sy (29500 “Jyyligiy el sawd
3 Spdgn LBl el Cawg g0 AT Cl
plauil 5T (535 2 530 dalad &5 Cansl (23,00
Sy S waled alivke Ll .cwl sad
SIS s Cawd 0 gyl il oy e
ol s sl ol 00 WSLD eSS
30 2dlayo g5l i 0yl AU € s lolyl
Wy ol (535l eyl 032 jl 45 S
P e rslebl) Canl sad CSL
1) pac Wgw Jos a5 ool gly g oyl
Wi gdE (35 o sgliie 4 wilewly0S
42 g (laraitils B Sl 5l ury 39 g0 39925

-

@)

t\+)

(&)

(¥<)

(Ya)

(r=)



OROROLORONO

Juls Wilgh oo SIS bl )l ool [F] il oo o5y aSd 9 i o b Su0 3 bl )0 2y,  F0)
25U Baygy 51 (S g3y 2 gyl 5 Sush adl jee gk Gl sly By B oo sleds
Gl (556 S aiile Glindag ool [F] 008 hio jol S U5 3 sl S0 il (9! g 55105 0
ONSCLe ol A ol ) L Sed 0 S| R0 JSie WDad oo ARDIAS iy glal> o pa AT

Sy opi sy 1 Splas & o g V0¥

Job il Wy 50 ey LU 4 S

3,10 (5 yadin y9b 0

A5 9 S e ()

sos Jsb (B Gl (ol e ol 23 (Y

alblne Bpas g glA2 puj) 51 eolaial (Y
« cymnalals|

Slp &5 slag, aw jl Glejen solazul (F
A 2 5han ot oo G

dYT ] sloe jlad b a5 (e 30 Canand plas
Caoand (2 iy cdiload aziee [Fl o (Y]
Sl 2y ddax 33,5 18 gl

S 0235 (09 Fae o 3590 53 o,lbgdr
Candoaily o) o8

[f] (1

[¥] (v

[¥] ¢r

[\] (f

Egoye e Jil 4 e plas

foge walys (e gam SIS0

4 s Job Rl slacusgaza (B ()
-.5!")“) 9

u:..ﬁ\j.él alise gla Sy, Sldl aulaa (Y
= Jgb

Obesl (T 53 yee sl I8l b (T

e sl I sl R slasi, (F

Pas 10 Sy plaf e OleMbl Gl

ol éoLo “C}!‘“‘»L‘l@‘)"

pll o1 (23wl p o595l &5 Slads ()
Sy Gig) &5 o ajlal ples 4 050 o
Al oo plodil € Jg 551,95 2

$3) 2 Srm AL e ) (Y
wdpldy ploul & Joples P & Cond o)

aS g0l yoe Job a5 wilazil lazetils (¥
Sl 2ali8l 1) Kogs 0als plal gae disu

ol QL 5l Sglise (glag, JpeS L(F
Dy o D> Bas &

Jaf o bk



P99

:du',

@i 7 ylae Jlgu p2 )0 451y (Fuaabge badd ol o3V (2] SlaIgw & (2 $RRly (1p
O Gl il Ty A g0 355 45 1) (Gl 55 s 9 s 15 Judowi gy j00 5590
Jgw 52 )0 eudz shae cAlllae 4 4 g b g auilyu Sidb 1) Jlgw p2 anlS LRl Cal 13
A o paro 45 |y (Pl il FLSRl BB (Jg 0uid ol g oo la &5 (2wl

S 3 e aolizewly 30 9 Ll o) 0



ONOBOLORORO

0 s Wi B9 (5 SIS 3 )

ol ke S92 ) peds ol
Fo olpad & (eign Yo jl cud LSS
2y 90 il il Glaggyy Sl .y yy
ol Sl i W .Sl Jgome Slowi
Ole oo ol S8 ST azl I wans e
B 518 @l S 1y s Sapg Yy
ol Coll @ Wleh o Fodan opf
s sglainn oo Jus WS SIS Jgye
2y dlaai b Jaore slapil oy !y
Ygaro g Wload 03l axwgl (19995 9 0959
Uas 520 S sogign! pady 5o
RN PSSV
B9 o g )dd lgiga 1) 9590 plas
€0,5 bl
i wSerg slaejliw adllas slp 556 ()
LA IR 5 S [ o A
ol 0398 il ) g3 9 g Slans
Joe bl o0 Bl slacadsls 6.1 (Y
Sl gl (S d sl s glaa
il 039 (fnaed gl S
P8 2l 3 oisn 9 Gspp b (¥
alul; igd e 3L (Jgps slael
Dyl Fons
P g S Blas a5,k (F
3,0 Sz )l LS sl sla o

WA gy D Ao

ols (e liwl ¥y guflis 0
VPR JEPRICK S-S JRCHN BPSCIRP P
Glp YoVo Jlu U  semas ol oyl
1039 s Sl (A jeib D g0
22l A L el 10595 (Hgd oo
i ale sgluls aud i o
olaaxio g pladedily clllie b ol
Bpo o oo aujr OSNWI g lifalepw
Wloys b olgi o0 9 ol Slads  oludl
4 g O’)‘i Tadwo 45‘_‘3),—9)0 W 50 plus
S oo i [ (o5 goucie
b plee oy, & 5l o segian ole opl ()
g Al g |y o a0 Y
oi)a.b 4 8y Jrao )» d)lf 51,9'.4_';)_‘
Sl asles
I, Glacedils wiep ool 5,_.,.];‘:35,_. alal (Y
B4 ga> jebay a5 o5 dalys s
39 .),5 as lay GLLDC)b QQ;‘;LQ‘
il ga las st 1) lagyb ol ilassls
Fhradils Gpie (5 ple Hol> pdan (7
Sbey 5o Wil slasw) 5l (gl &5 o
g el o sty o f 10l 7 ks
8T oo )18 GRS el 95
syl g bodys ol e o (F
S olaosyy 5l culex gl p3Y aslap
o35 pll 5l Ll gzl ase 561 2>
Pty e Sl er Seas ol

R



ONOBOLORORO

okl pliass S50 a as il b g -NY

FU o) sbod bwgio (Yoo Jlo U ol
RTLIIRE SRRV PES VR X s e S
4 oy (ol & Cuwl (ol (S )l
ol ot ) 03 S Oy
ol Joyo selowil o olghd Lo 2 les
a5 5oL o1 81 lei 45 3yl g2y ool
i b 1) wigd oo JSiao )l cde (nl &
G 8 el e w9 el
S90S g Slaidl 0je> 0 SV 1yghiie
Ol sl 438,55 S5 59 4 Camsl ()9 00
ol el Jelse 51 S )lF
Olade o ,8les ogmi 1) Lo ool cun s
Wil gilwgyoes SBCS H G
S0 S Glime Egeme o] bl &5
OF Oslelen A 4 (pn0) 92 50 oAyl (S
@lazys Jka Sl @l 5l o) aalss
2 F o segs pad O W glai oo wopme)
O @8 9 ol paw Glil gl i
SRl b (xe glaliwg, 9 baps
3 Slsl 9 18 gl g)las slage;
255 )l Bl 53 Gl by gadan S po
ol 0l Ly 25 990 plaS 1 1399 JYaiusl
adlie el &5 Ll uasyS o wuST Q)
re>y odesily adle 4 | SeolisS
.MJ@
M glp S 5 Bl b (pl 4 o LI(Y
il o @al 1) sl s39L Sl
V> et a5 JMase 0,5 ol bls (V
Sl 435, 2 la 5
Anlg>  JgiS Wig) sl i | Y g0 g, (F

.J’.g

.Ag',xdagdmdg

Sle Jip 58 @dd plulld)ls 5 (o2y)5 -1

g £33 S 3l Ty95 Sguat Judre S
FOU [ | NIRTENY PRYX SO ICN R F 7|
e p gt o bl lea Cone
wie Mo plojle S al wales Jlas
i 1) Ol (0350 &5 00,5 a0y o2
Sy Oyl 0SS Adlal Liail e, 10
Syl S lgl 8 o )0 g Wiluiig 5
sl 83,5 ot o )3 Sl (1 5ol
‘su‘,ié)’é )‘)b Uﬁ))‘ .O-w_i JLN & > as
g 2,38 )Y pgadae Yoo i Hloe s
ool goleie glalu sly oludl (Aadigy
55 Contd D AlgS (el g S5k y
lowsS ole] Sawguw (3U (sl 1y HUoes
JYarsl Jed glp p3¥ (2 e plas
O
&L‘J.a‘ wlyis 5l sadays slalic ) p e ()
2,5 ailgsu
bl % 89y » St Sy U (Y
axlge oy il 2Ty b asaeadly (o
A anlgs
P ohets walie glayelS S (Y
) eadayi slalic s g J‘e—“‘i
Wlpspe GliE 03 552 Sl pie
gl M2 3 el glp pY Ol (F
d97ge lodype Ol 4 Jlas o)lpen
e .\bl,}

1 axio



ONONOLORNORO

395 mid jl ale (2l Fede s Knyd NI

Rl aiss (p] pegdle 05 0 ple
Iy At il s0ns jobay &5 — 1S
Woe 45 loaiyF 1ans o 518 gleddicos
bo sy oode 0 51 (5 it (s Wilgd o0
s g ple a5 Jl>po aijpsle ple)l &
353y 99y Wyl gl Jligen AU
olply s STyl & Seliie Lulwl
&5 gogpie ST 50 wli bdgwld
wWwad e ylyd ple b3 1) Al glyl 4ea
PUREL gV (RN DIRTLVIRY| (PLY FERERY
ple plaear b &5 gloaid,) 5l g5l
a5 ojlul plad pFiawd oS0 )0
Pl dd o hld s (ole
(ol Jle plgied Wbl audd iy
Ay 1y olasdl g qwliliply) s /85 S 38
= oathe Uooe olaid; Lol o pS
o bad, @l (ol aiea e
Cmly e Olaalie & edes SO
dilgi o ple NSy AT D> ki
395 Juo 39y » S pleda L &S Jb
o ool bT gl il 4 wlaieds
Sinasaana 45 Cuwlize
P GFB sl g oy Ao @ 090 plaS
oS o0 Jol5' 1) 398y
39>y Wil gole lille a5 (glazs, Sol ()
3,
WD ol Cawddy gk Rl ol cpl (Y
QLS o cali 1) 09 S8 & jlo pele an (F
el gale 8,2 Jlos 4 wbi (F

Y lail g Olbld )l 5l 4 ¢ aid pin slis jo -NIY

S b eyl 50,50 g es lul
ol el g o e () S
@9 T Pl )0 Losa L) s
Cadlad (33,5 dgame b 4 3,5 oLl aiS oy
Cadlad bl glaog ) b (3,50 (o lken o
poe opl Oy anled dgume LTS Ll
acldl o .‘5,,5.6 o 0 anlub ol2!
slogyS I (Jlo (a1l )0 lacae
o 31 .8, ol jbails ol anwg
10,15 g e sloa 1L ol ccanad
$)lSes wiajls ol 0 Culbge lalid Lol
O 58 Cundl g anles Loy 5 pliinsy;
S sl )bl plsa Julacaxe
ol ot glad bes cumsy
39,9 gl liiel @ .05 JUo bgyl o 1y puiled
3 dadine; aed @ oo (T plavasio g o3 e
9 poke (2! 650k g )l gemns 9 o U ple
Iy olysd oof Conidae Wbdimoj ool 30 Cardlad
Pl Condl o0 led al ledi
Ll cudlad sladius g LT il 50 £ 9
A3 g0 g (| Caniige Jale |
Groabadl leear plgie 1) 9590 plas
(o905 ylaas 393 JYasmw! yo ST
G380 iym oty o0j0lld St (1
1S3 DIl e sudS glasly
CprmmsgST g (il
S Loy a5 abg g0 WLE(Y
bl a3 i3 0 o il Loz
oy 93 [y dlaly (39 Al msSas (¥
e (gl jealaills e (F



ONONOLOBORO

S w45 ol s )L el s g caxe s S ol 5l ek Gleil pbcgs e 110
Jo ol aueS o laielils Ll g s jI (SO A5 Wled ) s ( aliuis L o2l
el as Wizl je oldbogls 1 sobj dluwi ulejl b Ll o )ls S095 (4590 10 adu, LISTL
Oled 5 Leludl a5 Gl ol Eamdan op! o a8 gob Wbl 1) Jlod & 9y (S8 yao (Lol
K| JRYS- PP 0P SWIRN [PPRRGCIRT IR V. FPCS-1 KRN J I || RPSUPS AP SRCH PRSI X grtom
Ghle 4 Ygono &5 Jlod & 9) 10y (Mgl oo I (09 9 O9b g0 Sy ghl B JLw (b (il
ikt GV gb o) gyt $)lgems b HBLGe (Wiglh o0 035 30 PV
! O S 9 6&:‘ u:a)p.).{ ‘5|ﬁ eiY U’)" )80 plas
2508 8l o ped 4 3L g Sl el o T35 Sble l paiS Ja (Y
Sl 5 Jaoall Joew a5 3510 Ll Sla S aloul 4y iy oLl (F
idgss 395 5395 arws hole jibicow wis F o8 ,0 ulejl jo a5 ildbgls (F

P9d e ubb

VY axae



Pow g

:,,!lnih‘,

Tome Tl g dsilgi CBoa 1) L Jlges 8 58 o )18 (i 9590 Lo (Al Ul oy (0] 50
i il Aol o 1y



ONOBOLONORO

e el MR B NF gl Sl & ¢ 03 oleMbl @ azgi b2 olaial

N5 655 30 om € o6F bgho 51 J3 51 WY G IS8 @illas F 3 E D .C B A 65 i

55 b by 5 8 pf oS iy 438, 5P DS 158 el 3 e 5 99 39 ek
Sl 009y wlai o E 30 e 1a> Caoww o 3l 595 SO Tasl Sl

Fq 3 oailandl (595 99 wns 9 ey Cosw (i 3l (595

D (v a3l 6o ol Ll g o e gt

B 10 6 e g0 g 005 bl Cawly S

A K 45 WSy b Kese 59y oml G

ol 0 ) oledbl Wile e 1) Cwly o

! 392 90 o 2 guas

bgiuw 3l o 9 B (595 b bgiu 5l JS D 595 @
! pilad Jo A 585 L
55 30 lds E 3 B (595 (o i jl amy
DS Sl
C o5 595 o B 595 ogii jlam )51 -0A 15 € goF 51 VL F (goF bogis 5| uny o
xS bgi 1 L3 F (595 ol 0 050 51 3 DS 0
ol ol
i i
Coly Coon (g5 50 855 0 Fomls () '
oy Svos 57 53 85 VL (Y
2 e g 53 555 YL (T
Caly Srmw (g5 p3 Jas (555 (F

COO000

b F 595 00 5bain 5o U‘!J’i ST 18 665 VLA goF bsiw jlam ST -1VF

Cn! e log ) o2 9,90 1 S plas Op )0 bgie I S 1598 plal 05
“‘a)')j‘s,f,ow.b,iajlyA(l ‘.'c...!ui;,l,i‘_;,s‘,o_‘-,._o_,c“bw
RO F
o9 Sy j0 Jbedw I J3 E 4 C (I E v
IV PUS OO I ) D
ol 03 S bodaw 5o ylgl (C (111 Ct

TN TRE

I 1T ¢y

[ Laas (v

I g1 (f

W g I Axdo &

VW oaxio



3 Feasly WWF G 1Y o Jgas & <y oleMlbol & drgs bz Lol |

PaS b iy yo5 & € 1) Jol JE 551 I A S5 P 61808 b o 1 JLigd (s5b s 3

foaw! g (adad jabds A pguas ) 390 S o 293 > e s Sk D 3 C B
e 003 15 ol S8 bs () A5 b B ST g ST pluS e A0 90 (90 Hu

ol ools J5 ol D o (Y S5 ol gl AT 00l U il 99 lakd i oo S5

el 035 1) p)lez S5 (T ol 032 B 4 59 5 ol 9% 9 A @ 59

el 033 S5 g3 (¥ Fook S b L il ol S 5l plas e

el sdamw) Joid 55050 Sk (pl (S by
1Can] 39390 y 5 SleMbl 530 ! b alaly 4o

5 300t 1y piag S ol W Jol JS ou; @
] 00105 ploil (g S0

8 G058 ipgd S5 el odind g Jgl S5 ouii; @

ol 0394 B 31
wdy J5 o LS5k wadbesy JE g D S IYY € 4 g Cunloals (U5 b & ipgu S5 ouij @
Cal 0318 1 S 93 il plas’ B T el ey
el g pee O
Pz 9 p90 (¥ ook JS b osls D 1y S gl b 51 Y-
ps 3 9 (7 el 03) a5 42 1
psd s Jol (F D
C(r
B (v
A (f

oald B Wb B awA il Sy 81y
Ol T 42 4 S a3 pge S5 )0 AL
foml 0ols ¥
Ba4aC(Q
DaB(r
BaD(
A 4D (f

Pow i bl

VF axio



P le>

:,,glniM,

9 soue Slamiwl o 25 sldamulis Jold . 25 b Jlaw ilie £lgil 31 wlazial cyge3l 31 i ol

ROUR PRV IS5 SUNPPY oWy PR - At

ool 1y Sy 0 ssol 51 ks ol S lms E95 (09 glise Sbloas duily ils azgs @
Aad Fanly ! sl Jlgaw diaws yo slal 5o a5 gl g Joadl ygiws



ol 3 Ks 5145 pad) F Oue (KagS -IVF

2 oogl adlal T a4 (S ST 9V 509 oF
Wy S0 1) og wales pdy sy Y
Yol plas as (! a8l £ qone

AN

VY (Y

VF (Y

WV (F

W gy B Ao A

\F oamio

NPy ols blijldlael oy JS& j0 -ITF
Wl sae plas (Jlaw Cdle gloa .ol

é{p&%'kw’B,A

n 3050 1,3
) [1a[ )
NERZEHEE
Al ¥
A
Y ()
O (Y
Y (Y
q (f

bl o) JS& 50 -IYD

B Sobee 1 weye W il 18

€] 63 595 yobla

Y, ()

YD (Y
Yv.8 (¢
Yv.a (F



ONONOLONORO

ko Wil & iyl Jas ged a5 D 9 C olil @ 55 99 Col B 4 ¥ B & A Jgp Comns —IYY
(5 logy) K) D 9 C mr 1y Ggs 51 (s5Me B g s g0 € s 1) gy 51 (5 5lo (A digid o
3 o3 wiz (€ Lcuils waalgs Ja o5l Sy & 5i0 5l 0 Lled 455 59bay 1S g0 pand

ol 428 5 B 1, (b y0 Jgy
Yo ()
Fo (Y
de (¥
Fo (F

A (g 33 (555 9 € (gt 33 (K ol CanaS b e 33 Jald ATA Jles 1ol
Ol 35 T ) e gl Joalljgiad 4 a9 b g aalS Ao ;000 L) (gi 93 polie
i 3 Caode 1) 4 3F aolialy j0 ! S ) p €@l ygam Hlade 51
e Cedle 1) ¥ aly 55 dolidnly 53 ial ) 40P (g lade )51
w32 Caode 1) ¥ aly 35 anlidewl 50 i plp oo b aor g €l yoiw 90 polds 51

U"'!"J L 9 w U’S‘“ ’é xéu& O ‘) 6‘@5 Ul,"" ‘J'é“"' )Q sdweales wieHb! (.’"L.")‘ ;‘
o caede 1 Fady 3F aclewls 0 g0s

el cale SO u‘i) Oloyed (5 im09) sl 90 ~1TA
94sl B o beeln jl SO 05 0 )0 @ 9,0
oo B9 S 4l A 5,500

s e
FPeione JSlas | PYTR Vg RS
p3Y Eayd ) &S PV 9y 3l &S
waelw g0 Ul waelw g0 o U Col

9 V5 legore w2 b koo gl p
w3 oy 3y

W9y Ao &

VY amio



ek gy 1Yo 9178 ool a5 425 5L 1o s0s g SleMbl & dn g3 b1 Lol

] 39390 Kb g €I ol8Lulojl 95 )0 jlade G & Eaaxe )0 «D» 3 4Cr WBr $A» plund ool jl4>

Y ojled jlogai g olfiulejl 9 0 pleoud Slge polie §game jl liaad o3l y2 Hlaie o )d ) o)ledd Hloges
D3 oo L 1y aom g kb ol8iulejl g9 SLSEas «Cr g «Br AP ol 00l 4w Hlado ao )

«Cr g 4B wA» oLl o3le aw jlade o yo» Y o leud Hloged
war g aille olSLy ulnji 30 S5 &

A aow oy a3l
wdlty o8l lo31 [
P

A bivs ,’}/‘/

1#o Ydo

«A» «B» «C»

ool 0ole il 48 wo» JBAL;T 1 VY.
ol Wiz b oliulejl b axdls A
o0 B o luwud ool
Vo ()
A (Y
F(r
Y (f

u.!‘._u_-u_u:l oole » )‘éjﬁ Lo yor A O,Ln-n:l )b,‘;
wolfiule;l 49 )0 olesndd Slge polie §gazs I

«D»

-7

90 3 D oled ool jlade OGNS -IT4
polic gaeme jl w0y W wlllolejl
foam! oliiulojl 99 30 olond s3le j 4
£0 ()
(Y
Yo
Y (f

Pale> o bl

YA axdo



:,,ghih',
] (0908 = cunadSSN 1) (39051 B Igw & s 0 4 i o

PART A: Grammar

Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

131- Thunder is caused by lightning, ........cccevvvnnns essentially a stream of electrons
flowing between or within clouds or between a cloud and the ground.
1) which is 2) that is
3) to be 4)itis

132- In ancient Egypt and India, people produced large blocks of ice with the help of
evaporative cooling (the principle ....ccoiiinnin draw heat from their
surroundings).
1) water molecules that vaporizes 2) that vaporizing water molecules
3) to vaporize water molecules 4) water molecules are vaporized

133- By the end of the 1800s, naturally occurring reserves of nitrogen-based compounds
had been so badly depleted by their use as fertilizers .........ccevnnnn some feared a
worldwide famine when supplies ran out.
1) that 2) then
3) which 4) when

134- Work is currently under way on planes that could potentially fly .....ccvvvvvinnnnnn the
speed of sound.
1) faster than 20 times of 2) more than 20 times as much as that of
3) at 20 times 4) 20 times faster than that of

138 In'A8994; sissiasenuisiaasoie by the theories of physicist James Clerk Maxwell, Italian

physicist Guglieclmo Marconi began work on a technique to transmit electromagnetic
signals through the air over long distances.
1) when was inspired 2) having inspired
3) to be inspired 4) inspired
136- Because concrete generates considerable heat as it sets, large volumes can become
exceedingly hot, ...ccoovvviviinninnn s
1) so the material’s structural strength damaged
2) that damages the material’s structural strength
3) and the material’s structural strength damages
4) damaging the material’s structural strength

GO ON TO THE NEXT PAGE

V4 b



ONONOLONORO

137- Back in the 1966 movie Fantastic Voyage, a band of intrepid travelers were scrunched

down to the size of blood cells ........cvvvinnnn they could swim through the veins of a
big-shot diplomat and destroy a life-threatening blood clot.

1) so that 2) since

3) as though 4) in which

138- The space telescope, after all, has broken all kinds of records, including probably

2) the most newspaper headlines produced by any single astronomical project

3) producing the most newspaper headlines by any single astronomical project

4) the most newspaper headlines of any single astronomical project is ever
produced

PART B: Vocabulary

Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank.

Then, mark the correct choice on your answer sheet.

139- Ten years ago such huge telescopes were impossible, but since then engineers have

developed various ways to ....c.vevvivennnnnn and support their huge, unwieldy mirrors.
1) reflect 2) replicate
3) detect 4) fabricate

140- A barrage of natural and man-made forces threaten bridges, from the imperceptibly
slow degradation of salt water, corrosive soils and heavy traffic to the sudden

.................... destruction of earthquakes.
1) inflexible 2) sluggish
3) cataclysmic 4) sarcastic

141- The real test of a building is its ability to ......ccovvvniinnn hurricanes and earthquakes.
1) withstand 2) deter
3) consolidate 4) repudiate

142- The study of contemporary climates incorporates meteorological data ............c..vuee.
over many years, such as records of rainfall, temperature and atmospheric
composition.
1) complicated 2) assured
3) accumulated 4) estimated

143- The harmful use of animals in experiments is often .........cccevvvenn because animals
do not get many of the human diseases that people do.
1) pragmatic 2) inevitable
3) authentic 4) ineffective

144- In a comprehensive and compelling fashion, Sustaining Life, edited by Eric Chivian
and Aaron Bernstein, makes the case that the maintenance of biological diversity and

human well-being are deeply ....cccvvvvnnnnnnn ; we cannot have one at the expense of
the other.

1) reversed 2) interceded

3) proscribed 4) entwined

GO ON TO THE NEXT PAGE
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145- Unwilling to submit to the .........ccovvvnneen forces of weather and time that break
down mountains, Japan, in 1982, erected a wall to halt erosion of the perfectly
formed, snow-capped cone of their sacred Mount Fuji.

1) tenuous 2) inexorable
3) intrinsic 4) dormant

146- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has lead to an ......cccvvvinvnns in some people about the benefits of
technology.
1) impression 2) impulse
3) ambivalence 4) ignorance

147- One example of a ..ccevvviiinnnnnen is seen in the life of the butterfly. Butterflies go

through a four-stage metamorphosis from egg to larva (a caterpillar) to pupa (the
resting stage) to adult.

1) transformation 2) disappearance
3) propagation 4) redundancy

148- As vou plan your speech, make sure your examples are ........cccocvvvnene your topic.
You should use examples that deal with the subject vou are talking about.
1) at odds with 2) devoid of
3) germane to 4) replete with

149- Many people today enjoy the ease of shopping, banking, and paying bills online.
However, if your personal information is not securely ........ccovvnennnn. , problems can
arise.
1) intervened 2) divulged
3) disregarded 4) encrypted

150- In the 1960s a historian suspected foul play in Napoleon’s death in 1821 on the island
of St. Helena. Arrangements were made to exhume his body, and a hair sample was

then taken. Because hair doesn™ ...oovvvviiinninnn , scientists were able to do chemical
studies on it checking for toxic substances.

1) evolve 2) decay

3) persist 4) sap

PART C: Reading Comprehension

Directions: Read the following two passages and select the choice (1), (2), (3), or (4) that
best answers each question. Then mark the correct choice on your answer sheet.

Passage 1:

The cumulative effects of rain and flowing water are in large measure responsible for the
surface features of the landforms around us. There are, however, two common
misconceptions about the role of water in shaping landforms. The first is that it is the
flowing of water down the incline of the ground surface that ultimately produces
topographic form, and the second is that valleys are cut by progressive erosion of
riverbanks.

These ideas are somewhat inaccurate. The former is erroneous in that water erosion
over the surface of a slope, or inclined surface, is only one process, and often a minor one,

GO ON TO THE NEXT PAGE
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involved in the movement of soil material downslope. The latter idea of the role of erosion
by rivers is at best a misleading generalization. A river erodes its bed. As the bed at the foot
of a riverbank is eroded, soil material above the water level tends to fall or slide into the
river because it is no longer supported sufficiently. Such movements spread upslope, as
each time soil slides into the river the soil material that was above it, further upslope, is left
unsupported.

The form of the slope, or the nature of the scars and other surface features left by the
sliding or other movement of the material, cannot be said to be necessarily the product of
river erosion. Landslides, mudflows, and other displacements occur on the slope at points
distant from the river without any direct and immediately preceding involvement of the
river. Any other agent that removed the support at the base of the slope, such as
earthmoving equipment, would initiate similar effects. Within any slope there are forces of
gravitational origin as well, which have the potential for causing movements of materials
toward lower eclevations. Such forces find expression in movements of many types.
Counteracting them is the resistance, or strength, of materials comprising the slopes. The
form of a slope depends on the properties of the materials of which the slope is composed,
which in turn depend on the climate and the history of the slope.

151- What is the main idea of the passage?
1) Riverbed erosion causes riverbanks to slide.
2) Movement of earth causes riverbed erosion.
3) Topographic form is produced by the movement of water over earth.
4) The role of water in shaping surface landforms is often misunderstood.
152- What happens as a result of erosion of the bed at the foot of a riverbank?
1) Soil falls into the river from the bank above.
2) Water trickles down into the river.
3) The river flows more smoothly,
4) The river becomes deeper.
153- It can be inferred from the passage that the surface of the Earth .........cccovevvn. .
1) consists of many different interconnected waterways
2) is not affected by weather conditions
3) is basically stable in form
4) is constantly changing
154- The author mentions all of the following as causes for the movement of soil material

RRCEPT: ooicossisconsnnis e

1) landslides 2) volcanoes

3) mudflows 4) earthmoving equipment
155- The effect of gravitation on the slope is limited by the ................ odiass

1) strength of materials that make up the slope
2) movement of material to lower elevations
3) age of the slope

4) flow of water

GO ON TO THE NEXT PAGE
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Passage 2:

Copper ore can be smelted (melted to extract its copper content) at about 750 degrees
centigrade, and copper metal melts at just under 1,100 degrees centigrade. Both
temperatures were well within the range of early pottery kilns (ovens), and it is most
likely that the two technologies (pottery and metals) were initially closely linked.

The introduction of heatproof containers of stone or pottery allowed metalworkers to
shape copper by casting—pouring molten metal into a mold. The first molds—for items
such as axe heads—were simple open molds carved into the surface of stone blocks. These
were followed by two-piece molds that enabled more complex shapes to be formed.

Seme copper ores also contain small amounts of other metals, notably arsenic. When
smelted, these ores produce an alloy (a substance composed of a mixture of metals)
significantly stronger than pure copper, with an attractive silvery color. Some
metalworkers seem to have deliberately selected these ores, and arsenical copper
remained popular (especially in Egypt) even after it had been superseded by a superior
alloy—bronze.

Bronze is a strong, versatile alloy made by mixing copper with tin. Deposits of tin ore
are much rarer than copper ores—sometimes tin had to be obtained from sources as
much as 1,000 kilometers away—but bronze was well worth the trouble. Copper has
several advantages over stone as a material for tools—it is heavier, denser, and does not
break so easily—but it is also softer, and copper cutting edges are quickly blunted.
Bronze, however, is superior to stone in almost every respect, except cost. Making a stone
tool can be a quick, one-person operation, but making a bronze one requires the
extraction and combination of two expensive materials, considerable expertise, and far
more time.

In about 3200 B.C., Mesopotamia became the first region to organize sufficient
supplies of copper and tin to begin producing bronze in quantity. Metalworking was
under state control, and virtually all of the production went into prestige personal items
and weapons— agricultural tools had a much lower priority.

In Egypt, which was slower to adopt metals, the same pattern of production emerged,
whereas in the unwarlike Indus Valley, bronze was put to more utilitarian purposes from
the outset.

156- What does the passage mainly discuss?
1) The use of molds to cast copper into shapes
2) The advantages of copper tools over stone tools
3) The early production and use of copper and its alloys
4) The close connection between early pottery and early metalworking
157- According to the passage, why is it probable that the technologies of pottery and
metalworking were at first closely connected?
1) Metal alloys could frequently be combined with clay in the production of
pottery.
2) Pottery kilns could attain the high temperature required for metalworking.
3) Pottery could not be shaped properly without using molds made of metal.
4) Pottery could be used to strengthen artifacts made of metal.

GO ON TO THE NEXT PAGE
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158- Which of the following can be inferred from the passage about bronze in ancient
times?
1) It was harder than copper but sofier than stone.
2) It had a more silvery color than modern bronze does.
3) It was generally manufactured rather than found in nature.
4) It generally contained a higher proportion of tin than of copper.
159- According to the passage, which of the following is true about metalworking in
Mesopotamia?
1) Most bronze objects made in Mesopotamia were weapons or personal items
indicating status.
2) Mesopotamia’s production of bronze items consisted mainly of farming tools.
3) Mesopotamia controlled the bronze production of neighboring regions.
4) Mesopotamia exported expensive bronze items to Egypt.
160- Which of the following can be inferred from the passage about the inhabitants of
the Indus Valley?
1) Their production of bronze items was very similar to that of the Egyptians.
2) They used bronze mainly for making items of practical use such as tools.
3) They had to import bronze weapons and jewelry from Mesopotamia.
4) They adopted the use of metals even later than the Egyptians did.

This is the end of Section 5.
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